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[1] Find the general solution to the following system of equations.
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[2] Using matrix multiplication, count the number of paths of length eight fromy to y.

by 2
B x\l | O(
A \1 " O‘ : number of paths = %6
2\ 0

(£)
|1\ O 110 211\
g\ o\ 1\ 2
A A \ 2
8 Z /4 -
At = ’\L\L\!l&\},\] = %;3
L\ \7,2‘ \P\?—Z
s (WA %/////a 56166455 =86
b 6 =V, %
i L/é/;// %\ S E/a %//%/
A‘( ﬁ‘(
cm\v(/om
whod we N

hedk: Make a lefr ov vight logp of 22 S(ﬂeébém retur niag
o 4. Ten any paM of remaning length-

S = 2 () +F(n-2)+ Flw-4)+-.)
nlo | 2245678

fon) 1 o 2] 2[gl lo 22 42(86| &
¢ 1 () 5/ 2
% 7 xZ

X

e §




F16 8:40 Exam 1 Problem 3 [Reserve d for Score]
Linear Algebra, Dave Bayer ||I |I | | I|I Il

testlalp3

Test 1

[3] Find the intersection of the following two affine subspaces of R>.
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[4] By least squares, find the equation of the form z = ax + by that best fits the data

X1 Y1 zy 1 01
X2 Yo zo | = |0 1 1
X3 Yz Z3 1 11

(Note that b is multiplied by y in this equation.)
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[5] Let V be the vector space R3, equipped with the inner product

1 1 0 d
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Using this inner product to define orthogonality, find the orthogonal projection of the vector (0,0, 1) onto
the plane defined by the equation
x—y+z=0
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